—fEt
SH7E3A31AKRE (Bifr: M)
B! B LEFRE BIERE i
I EEOE
1. REEE
WEHER 281,359 215,397 65,962
RIXAE 11,392 1,934 9,458
REVEEET (A 202,751 217,331 75,420
2 EEEE
(1EKRBIE
EHTEE 57,000,000 57,000,000 0
EARPESE B 57,000,000 57,000,000 0
(FNMOEEERE
HTREEE 3,113,785 4,813,785 A 1,700,000
EHTEE 30,000,000 30,000,000 0

TDMOETEEES (C) 33,113,785 34,813,785 A 1,700,000

EEEESET (D)=(B)*+(C) 90,113,785 91,813,785 A 1,700,000

EESEH (BE)=(A+D) 90,406,536 92,031,116 A 1,624,580

I B{EOH
1. REAE
FhE 331,830 478,745 A 146,915
aYE 0 0 0
RBAEEF P 331,830 478,745 A 146915
2. BEGE
BE&ESs @ 0 0 0
B{EEF H=FEHG) 331,830 478,745 A 146915
I IERKBFEE DER
1. ¥65E IEBkBA %

IEFE LB E SR (D=(B) 57,000,000 57,000,000 0
OLERBE~DTTHEE (57,000,000) (57,000,000) (0)
GEBEEE~DIELE (0) (0) (0)

2. —fRIEREAEE (I=(E)-(H)-(D) 33,074,706 34,552,371 A 1477665

EBRBAE &5 (K=(D+) 90,074,706 91,552,371 A 1477665

BERVIEKRMESE (L=(H+K) 90,406,536 92,031,116 A 1,624,580
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Hral=Et
SH7ESA3S1HBE (BHr: A
i B BEE HEE B
I EEOH
1. RBEE
HE&AE® 3,199,537 908,851 2,290,686
FILAE 831,989 688,271 143,718
RBEESEH A 4,031,526 1,597,122 2,434,404
2. BREE
(DEFDMEEEE
FTOMBETEEESE B) 0 0 0
BEEEESF (C=(B) 0 0 0
EEAI (D)=(A)+(C) 4,031,526 1,597,122 2,434,404
I AEO
1. RBAE
i 8,940,289 5,490,009 3,450,280
FRILHERSE 547,800 827,500 A 279,700
FiGEARE 72,000 72,000 0
FEYE 179,898 423841 A 243943
REBEESEH B 9,739,987 6,813,350 2,926,637
AE&E =B 9,739,987 6,813,350 2,926,637
Il IESKBIEDEE
1. $5FE ERKBARE
BEEWRMESE (G 0 0 0
OLEXRBE~DFTHEE) () (0) (0)
OB TEEE~DIZER (0) (0) (0)
2. —fRIEBRRTE (H)=(D)-(F)—~G) A 5708461 A 5216228 A 492233
IEERBAEE & ET (D=(G)+(H) A 5708461 A 5216,228 A 492233
BERVEKRBRESST (N=(F)HD 4,031,526 1,597,122 2,434,404




SM7E3H31BIRAE (Bhr: M)
S = — R =E HEET & &t
1 EEDE
1. REVERE
REER 281,359 3,199,537 3,480,896
FIRAE 11,392 831,989 843,381
FRENEEAE (A 292,751 4,031,526 4324277
2 BRERE
(HERBTE
EHTEE 57,000,000 0 57,000,000
HAKXBESS B) 57,000,000 0 57,000,000
(DZDOLDEFEEE
EEHEE 3,113,785 0 3,113,785
EHITES 30,000,000 0 30,000,000
FROBEEEESET (C) 33,113,785 0 33,113,785
BxEEESEH (D)=B)+(C) 90,113,785 0 90,113,785
EEAET (BE=AD) 90,406,536 4,031,526 94,438,062
I REDE
1. REN&E
E 38 331,830 8,940,289 9,272,119
FIEBERE 0 547,800 547,800
FKihiEARE 0 72,000 72,000
YAV & 0 179,898 179,898
REBAESE P 331,830 9.739,987 10,071,817
2. BEEAE
BIE&ES @) 0 0 0
BESFT H=PHG) 331,830 9,739,987 10,071,817
M ERIAEDE
1. tEE IERKBLZE
IREIEREBIESE O 57,000,000 0 57,000,000
(BHEKBEADTHHN (57,000,000) (0 (57,000,000)
GBEHEEE~DFEHE (0) (0) (0)
2. —BREKRBEE (W=E-H-D 33,074,706 A 5708461 27,366,245
EBRBAE BT (K=(D+J) 90,074,706 A 5708461 84,366,245
BERVERBMESE L=H+K 90,406,536 4,031,526 94,438,062




